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1 ÎZw
ÃzZã�ñX Moment of Couple (i)

Æ!*g}~ÉÀ�/õGX Principle of Moment (ii)

Æ!*g}~ÉÀ�/õGX Moment of Inertia (iii)

Åz�s#�ñX Radius of Gyration (iv)

ÐH%Z�ì? Angle of Friction (v)

Æ!*g}~ÉÀ�/õGX Normal Reaction (vi)

ÐH%Z�ì? Impulse (vii)

Æ!*g}~ÉÀ�/õGX Angular Velocity (viii)

ÉÀ�/õGX Equation Å Work - Energy (ix)

ÐH%Z�ì? Displacement (x)
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6,¿â^ÉÀ�/õGX Law of Parallelogram of Forces (a) 2

6,»x�g;ìXZk Rigid Bar Zq- (System) »Zq-Âx (Parallel Forces) áZi~¯gw (b)

�ñX (Reduce) ÃÁ System

(i) A single force of resultant

(ii) An equivalent force couple system at 'A'

(iii) An equivalent force couple system at 'B'

Æ!*g}~ÉÀ�/õGX Parallel axis theorem (a) 3

Ã¥x�bX CentroidÆ 'Z' Section (b)

Æ Smooth Vertical Wall ìXZq- 200N ìäziy 5m long � (Ladder) Zq-S̈ 4

700N (weight) »ziy man ìXZq- angle 60o with horizontal 9~�ðìä Against

ÃìX�[�ñ (slip) ìXZ#�z{l (Stand) ~9Z (mid height) �S̈Æ�gxãZz�ð
ÃX Co-efficient of friction (between) ÆÖ@ floor Zzg ladder (Calculate)

Y@* (drop) 6,¤/Zc* floor Ðn (Height) ÅZz�ð 12m ìÔZÐ 0.05kg mass ä Ball Zq- 5

ÃqÝ�zXZzg Impulse of force ìXZkÆ (Rebound) ÅZz�ðJ-Zå 8m ìQtzZ:
Average force exterted by the floor on ball taking the period of impact as 0.12

Period of Impact Ã¥x�b6� Average force Æfg=�zZá Floor 6,Ball) seconds

ì(X 0.12 sec

2P.T.O.



2 minutes ì�� 1m radius of gyration ìZzgT» 5000kg (mass) »ziy fly wheel Zq- 6

�ñX (calculate) ì�[ (loss) Å�ê 250 r.p.m.Ð 400 r.p.m. (speed) ÆZ0+gZkÅgëg
(i) The retarding torque acting on it.

(ii) Change in the kinetic energy during the above period and

(iii) Change in its angular momentum the period.

Ã,ÐÒy�ñX Reactilinear Motion (a) 7

H�HìX refined ~ relation ÃZk Motion of apertide~ Rectilinear Motion (b)

S = 2t3-9t2+12t-10

~ªCÙH�HìX¥x�ñX seconds Ã 't' Zzg meter Ã 'S' �V

(i) The acceleration of the particle when the velocities is zero.

(ii) the position and the total distance travelled when the acceleration is zero.

À�~Zz6,ÅahZð face ~ìXäZq- trapezoidal section �Mansory dam Zq- 8

18m (Height) ìZzgZz�ð 10m (Bottom width) ìÔnÅahZð 4m (Vertical Top width)

(distance) ÆÃ, centroid of the sectionÐ above the bottom Zzg vertical face ìX
Ã¥x�ØX

Ã,Æ�BÒy�bX (Types) ÆZlx (Friction) g¥/ 9

u�äI�çÝ

Ãz�s#ÐÒy�bX Conditions ZzgZkÆ Equilibrium (a) 10

Zzg S ìX PQ=QR=RS=4m ìX�V6, 12m TÅMð Horizontal beam 'PQRS' Zq- (b)

action Æ forces �g�ìZzgZy forces act Å 1000N, 1500N, 1000N Zzg 500N 6,P,Q,R

Position of resultant Æ�BX P.S 0g;ìX!*nKM angles Æ 90o, 60o, 45o
Zzg 30o Ð

Ã¥x�bX Magnitude, Direction Zzg force

Pitch 1.25cm ìZzg Mean diameter 10cm » Screw Thread Æ Screw Jack Zq- (a) 11

Force �X 0.25 ìz{ co-efficient of friction Æ�gxy� nut housing ZzgZn Screw ìX
Ã mass Æ 5000kg HY¨ (apply) 6,Wy%~~�ÛZë 50cm Æ lever arm ¥x�b� 'F'

ÃÌ¥x�bX efficiency ì?ZzgZkÅ self locking device �äÆnXHt raise

6,¿â^ÉÀ�/õGX Differential Screw Jack (b)
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HìXUñ�´º (remove) ÐUc* rectangle Ã Semi Circle Z°Z�zÑg~�3ñ�Zq- 12

ñßx�bX Centroid » (removing area)

(long) ÔMð 120mm (width) ,ahZð Aluminium Rectangular Prism Zq- (b)

moment of Æ�[ÐZe Centroidal axis ìX 180mm (Height) ZzgZz�ð 350mm

ìX 2560kg/m3 density Å Aluminium ¥x�bX inertia

'r' �V6, , ìZk§bÐCc*�Hì Polar coordinatesÆ Particle 13

magnitude of Å particle ~ìXZk seconds 't' ~ìZzg radian ~ìZzg meter

�X t=5 sec Ã¥x�bX² Acceleration Zzg velocity

�bX (drive) ÃegZ- Equation Å Work Zzg Energy (a) 14

bullet ��ìZzg fixed ~ log of wood ÅgëgÐYg�ìZzg 250m/s � Bullet Zq- (b)

Æ�B velocity (same) ZÏ bullet �ìXZ¤/ (Penetrates) ~ß (depth) Å�Zð 40cm

�ÏX Emerge Ð velocity ~`ðYñÂ¾ Piece Æ (thick) ñN*ð 20cm Æ wood

g3YñX Uniform~ Cases Ã�zâV Resistance
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